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Circle the correct answer. 

 

1) Speed regulation of synchronous motors when absorb unity power factor is.       (2 Marks) 

a.  1.1 

b.  1.0 

c.  0.9 

d. 0.0                                          

 

2) The field winding in synchronous machines is supplied from                               (2 Marks) 

a.  directly the input three-phase voltage.  

b.  the input three-phase voltage by induction.   

c.  external AC voltage.   

d.  external DC voltage.  

                                                                                                                                                                                                                               

3) Two synchronous generators are to run in parallel. The first one has six-poles and runs at a 

speed of 1000 rpm. If the second one has two-poles, its speed should be                   (3 Marks) 

a.    3600 rpm. 

b.    3000 rpm. 

c.    1200 rpm. 

d.    900 rpm.                                                                                                            

 

4) The converted power in synchronous machines when neglecting the armature resistance is 

                                                                                                                                      (3 Marks) 

a.  
3|𝑉𝑡||𝐸𝐴|

𝑋𝑆
𝑐𝑜𝑠𝛿.  

b.  
3|𝑉𝑡||𝐸𝐴|

𝑋𝑆
𝑠𝑖𝑛𝛿.   

c.  3 |𝐸𝐴||𝐼𝐴|𝑠𝑖𝑛(𝛾).   

d.  3 |𝐸𝐴||𝐼𝐴|𝑐𝑜𝑠(𝛾).                                                                         


